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Task 1
Each group of statements represents a sociological theory. Say which ONE statement out of each group you agree with and give reasons why you have chosen it.
Slide 1 Statements:
a) Men dominate all aspects of society.
b) Gender inequalities exist.
c) Women are systematically disadvantaged.
d) The new man theory is a myth
e) The Feminist theory is outdated in a post-modern society . 
I agree with …………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
Slide 2 Statements:
a) Society exists in a state of balance.
b) Society works for the benefit of all.
c) Structures in society exist to help people and the smooth operation of society.
d) We live in a democracy.
e) People are judged only in terms of their merit / skills / intelligence. 
I agree with …………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
Slide 3 Statements:
a) Life is unfair.
b) People are not paid enough.
c) The world is run for a very small group of people.
d) Most people cannot see that they spend their entire lives being exploited.
e) Our current system for organising the economy does not work. 
I agree with …………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
…………………………………………………………………………………………………………………..
